




Session 35



• Which out of 0.5 and 0.05 is larger?

• Place 0.503, 0.53 and 0.513 in order from smallest to 
largest.



Lead-in: make a decimal rocket

• Stick different parts out of order on the board. Ask 2/3 Ss to come to 
the board and rearrange the rocket from least to greatest. (on each 
piece of decimal is written in advance)



Put this number in the place value chart.

35.04

3 5 0 4

The expanded form is:
3 tens + 5 ones  + 4 hundredths 

53 + 5  + 0.04



Put this number in the place value chart.

473.123

7 3 1 24 3
The expanded form is:

4 hundreds 7 tens + 3 ones  + 1 tenths + 2 hundredths + 3 thousands

400 + 70 + 3 + 0.1 + 0.02 + 0.002



Put the number in the place value chart.

537.205

3 7 2 05 5

The expanded form is:
5 hundreds + 3 tens + 7 ones  + 2 tenths + 5 thousands

500 + 30 + 7 + 0.2 + 0.005



Which expanded form is correct?

46.126

a) 40 + 6 + 1 + 2+ 6
b) 40 + 6 + 0.1 + 0.2 + 0.6
c) 40 + 6 + 0.1 + 0.02 + 0.006




